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What is Public Finance ? Describe the objectives and scope of Public Finance.

OR

Mention the characteristics of private goods and public goods.

Discuss the causes of increasing in public expenditure.

OR

Explain the effects of public expenditure on production and distribution.

Discuss in detail, the sources of revenue of state.

OR

What is Deficit Financing ? Mention its advantages and disadvantages.

Explain the benefit and ability theory of taxation.
OR

Explain advantages and disadvantages of direct taxes.

Choose the correct option : (Any Seven)
(1) The objective of public finance is to secure

(a) maximum profit  (b) maximum welfare (c)
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law is introduced by Adolf Wagner.
(a) Increasing cost (b) Diminishing cost (c) Equal cost
There is always a possibility of tax evasion in the case of tax.
(a) direct (b) indirect (c) both
Public expenditure is that expenditure which is incurred by the
(a) Private individuals (b) Government (¢) Industrialists

Modern state is known as

(a) Police state (b) Welfare state (c) Free state

Under tax, the rate of tax goes on increasing with the increase in
income.

(a) proportional (b) progressive (c) regressive

For the , expenditure is determined according to income.

(a) Government (b) Private individuals(c) Both

Taxation policy is a part of policy.

(a) Fiscal (b) Monetary (c) Income

Defence service is

(a) divisible (b) indivisible (c) joint

When expenditure incurred by state exceeds its revenue, it results in
(a) Balance (b) Surplus (c) Deficit
Taxes on income and property are taxes.

(a) direct (b) indirect (c) regressive

is a compulsory contribution from the person to the Government without
any direct reward.

(a) Penalty (b) Tax (c) Fee




